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                      R1-1613232
WF on non-precoded CSI-RS codebook for 20-32 ports
Source: CATT, Ericsson, Samsung, NTT DOCOMO, CATR, VIVO, OPPO
---------------------------------------------------------------------------------------------------------------------------------------

· The following “config” is introduced

· Antenna grouping based W1

· 4 groups (2 groups with equal size per polarization) for all the supported antenna layouts

· Only 1 beam

· Co-phasing for W2

· Support for rank 1 and rank 2

· Co-phasing between antenna groups
[image: image2.emf]
· For W1: 
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· For W2: Reuse Rel-10 4Tx codebook (both rank 1 and rank 2) 
· 
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 is an O1x oversampling DFT vector of length M1, 
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· 
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 is an O2x oversampling DFT vector of length M2, 
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· M1 and M2 denote the antenna port number of each dimension in an antenna group individually
· The relationship between N1/N2, M1/M2 and
[image: image8.wmf]Q

is defined as
· If mod(N1,2)≠0 and mod(N2,2)=0, M1=N1, M2=N2/2
· If mod(N1,2) =0 and mod(N2,2) ≠0, M1=N1/2, M2=N2

· If mod(N1,2) =0 and mod(N2,2) =0, then
· If N1≥N2, M1=N1/2, M2=N2
· Otherwise, M1=N1,M2=N2/2
· 
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is an antenna ordering matrix, with size 
[image: image10.wmf]2
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· If M1=N1/2, 
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· If M2=N2/2, 
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where 
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is a unit vector, with length
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and ith element equaling to 1
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----------------------------------------------------------------------------------------------------------------------------
· For W1: similar to config=1 of Rel-13 Class A codebook

[image: image16.wmf])
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· For W2: co-phasing
· Reuse the Rel-10 4Tx rank 1/2 codebook, defined in Table 6.3.4.2.3-2 in TS 36.211
· Payload
· W1: 
[image: image17.wmf])
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· W2: 4 bits for either rank 1 or rank 2
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